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Bvava =[of =22=4 , ' =[f =3=9 «xa &-ﬁ=|&|-f%cuv(&:[g)=2-3-cuv60°=6-%=3

- 2
Apywcd Bo vmoloyicovpe 0 |3a + 2[3|

@=4 , =9, 6p=3

Eivo [30+2f =(30+28) =9¢" +12ap+4f" = 9-4+12:3+4.9=108

Enopévec |3&+2[§|2 =108 3&;2320|3&+2[§| =108 = |3&+2[§| =63

Eivan &2=|&|2=12=1 , [§2=|[§|2=62=36 Ko &-E:|&|-|[§|-cmv(&j[§j:l-6-cmv60:3
Bivor [20-f =(20-5) =da’ ~4a-f+f =4-1-4-3+36=28

Enopévos [20-f| =28=[20-f|=V28 =47 =27

Bvaw o =[of =42=16 . " =[f[ =2 =4 x« &-E:|&|-|[§|-Guv(&:[§)=4-2-cmv120°:—4
- —~12 - —\2 -2 - = -2
Eivou |2a—3[3| =(20-3p) =40 —120-B+9B =4-16-12-(—4)+9-4=148

Enoptvos [3a—f| =148 =[3af|= V148 = 4-37 =237

Bvaw o =|of =22=4 , f'=[f =3 =9 x« &~B=|&|.|ﬁ|.m)vg=2.3%=3

I - 2 -2 Y
Bivar [3a—f[ =(3a—B) =9a —6a-p+p =9-4-6-3+9=27

Enoptvos [3a—f| =27=a—f[=v27=13-9=33

, -2 -2 2 -2 -2 2
Eivan «a :|a| =1"=1 xou B :|[3| =2%2_-4
Emiong &J_ﬁ , Gpol &-ﬁzO
- - - —\2 - - - -
Eivau |20c—3[3|2:(2a—3[3) — 40 —120-B+9p =4-1-12-0+9-4=40

Emopévag |2&—3[§|2 =40=> |2&—3[§| =40 =210

Eivon &2:|&|2:22:4 , E2:|[§|2:\/§2=3
an a.rs=|a|.|ﬁ|.<m(aj§j=2.ﬁ.m[5§j=z.ﬁ.(_%=_3
-~ =2 R 2 -~ =2
Eivor |3(x—2[3| =(3a—2[3) =90 —12a-+4p =9-4-12-(-3)+4-3=84

Enotvos [3a-2f| =84=>[3u—2f| =84 =421 =221



